Formula to Analysis

slope:
m = tanga = f'(x)

a =tang”(f'(x))

touch:

. f(x) = g(x)

l.f'(x)=g"'(x)

Extrema:

.f'(xg)=0

Il.f" (xz) <O HP
f" (xg)=0SP
f"(xg)>0TP

Inflection point:
Lf" (Xup)=0
Il f" (Xyp) #0

Linear function:

Y=mx+n
-n
Xo=—:; Yy=n
m

Two lines are parallel:
m; =mj

Two lines are ortogonal:
mp = 1/m2

Quadratic function:
Y=ax’+bx+c

X, = p/q Formel ...
Y,=¢C

—b 4ac-b?
2a’  4a
a>0 upwards
a<0 downwards

SP ( )

vertex in [0,0]:

Y =ax?

vertex on Y-Axis:
Y=ax’+c

Parabola through [0,0]:

Y =ax? + bx

Analysis:

Tangents / Normals

Y, = £(0)-(r—x) + f(x)
Nwz—f,(lxl)-(x—xwf(xl)

Touch of two functions:

fx1) = g(x)) und £ (x1)) =g~ (x1)

Distance between two points

Special derivative:

Pi(xi; y1); Pa(x25y2)
d= \/(xz _'xl)z +(», _y1)2

Line through two points:

Pi(x1; y1); Pa(x23y2)

m=22"Y1. h_y_m.x
Xy — X4

Y=mx+n
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